Use the table below and a graphing calculator for Exercises 3 through 6.

[image: image1.png]*

x.

4455 556 657758859 9510

shoe size




3. Make a scatter plot of the data pairs (years since 1980, population).
4. Draw the line of best fit for the data.
5. Write an equation for the trend line.

y = 318x + 9735
6. According to the data, what will the estimated resident population in Florida be in 2020? 22455 thousands
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Use the table below and a graphing calculator for Exercises 7 through 10.
7. Make a scatter plot of the data pairs (years since 1999, revenue).
8. Draw the line of best fit for the data.
9. Write an equation for the line of best fit. y = 244.6x + 7869
10.
According to the data, what will the estimated gross
revenue be in 2015?    11782600000
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11.
During an eighth grade math class, the students compared a person's shoe size to their height. After listing each student's data in a chart, they used this information to produce a scatter plot.  Use the scatter plot above to determine the trend line for the data collected.

A.
y = 3x –13


B.
y= x + 3


C.
y=-3x + 23


D.
y=- x + 3
